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(Please readfeachfaﬁ the,following instructions carefully before attempting guestions)

73\ g "
There “are EIGHTj\q\%mstions divided in two Sections and printed both in HINDI and
in ENGLISH=~

Caﬁdidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or ¢
i i ‘ portion of the page left
in the Question-cum-Answer Booklet must be clearly struck off. page left blank
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WUs—A / SECTION—A

1. frafafea % ¥ v&% v = I anm 150 w= | G -
Answer the following questions in about 150 words each : 10x5=50

fo) @ 3N FE F 0 TR F W § m F o@ oadd Il 9F | ' A

Explain the backward sloping supply curve of labour as a choice between
income and leisure.

(b) i wfFfm % srwin, AgFE 3, iwa 9 T = e e B entd w9 R ()
T, (i) Seerna gae 3 fid) oft & afte & R anamen  zmed W@ em Sk
Under perfect competition, in the short run, find out graphically, without using
average cost curve, the conditions in equilibrium for the existence of (i) normal
profit, {iij supernormal profit and (iij} loss.

(c) 3 % fm = =R A st yeam-dafa s 9 9 @ Hfm
State Okun’s law and find out the expectations-augmented Phillips curve.

(d) "R g F fag win A =@ de R D, @ EEEk gw mqﬁﬂamﬂsrm\'@t. armvﬁa:f\
A T IAR (fe Wo die) w1 T wm TR §1” 30 B @ wwh \&a‘?ﬁml
“If the interest elasticity of demand for money_is law, ti'!\e g‘mﬂe}arists could
predict the real GNP simply by the .use of{moné} su\'i:nply." Explain this
statement. = \

'5“:‘-"":}, LR
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R

j winfa w@ &7
&9 L X e |
Explain repo rate-and reverse repo rate. How do changes in the repo rate affect
Py A W . )
EMIs of-borrowers?
{ &%

2. (o) M TEw w1 Fex wea o v A g SR R0 @ 2

In what way Kaldor's model of income distribution is basically a Keynesian
theory? 20

(b) T FRm % I wgen e TeR A @ sl (SRmeRRS) TR § w3 & ™
wrins wen-Frim A wen w1 wnem e s R

Explain how Nash equilibrium provides a solution to the problem of strategic
interdependence among firms in an oligopolistic market. 20

{c) m-ﬁmuﬂﬁ(m}ﬁmaﬁ:am%ﬁammﬁmm%?
| 'y A Rdaen & T faw 8 '

How_w is_ Kaldor-Hicks compensation principle an improvement over Pareto
optimality criterion? What are Scitovsky's views in this regard? 10
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3. {(a)
(o)

fc}

4. (a)

(b

\c‘a

"ahETa Fearmall 9 gRee & Swia geaaredn Hies i e fft o sugw atew

%) wema A 38 w9 wWe Sk

“Under rational expectations hypothesis, systematic monetary policy will be
ineffective.” Explain this statement using a suitable model. 20

=aige 6 S s # s Al & SR ¥ R s 2t 3 @) s

3 A @ wuiw 3

Show that liquidity preference is neither necessary nor sufficient for the
existence of involuntary unemployment in Keynesian system. 20

TR R F T 9 F afeia AR @ wm F s €1 R T A 0@ e oFaEn
Hifw)

Derive money multiplier when a part of money supply is exogenous and the
other part is endogenous. 10

Tl sreforaren § Frem Eedift 31 @ 9 2 A, R ) sndle s, (i) 3 =
aw (iii) Gt 9w K frnedl & wn-wn ofeds s
In the cvent of persistent inflation in an economy, what changes the CCnLral

Bank will bring about in (i) reserve ratios, fii) bank rate and (iii}.open markel
operations? K\ 20

mﬁwtummmmm%mwﬂsﬂn"wmﬁm
ﬁmmm%aﬂm%mmmﬂmml

“Subsidies have bom\posiyvc and‘ r\'}égatwe impacts on the economy.” Explain
this statement and']:llustrate\your answer with Indian experience. 20

O \|
mnﬂm‘@mkﬂﬁﬂﬁﬁaﬁaﬁ#gﬁmﬂmammﬂmmaﬁml

lam the meaning and significance of money illusion on the part of workers
Gn the Keynesian theory of employment. 10

WUEs—B / SECTION—B

. Fafafe 3 A v@% vm @ I w150 7= # SR
Answer the following questions in about 150 words each : 10%5=50

(a)

(b
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wmmm%ﬁ:%mﬂmﬁmmﬂmﬁm@-ﬂmmmaﬁmﬂaﬁm
7 I 3w & uw § 7 Afm)

Do you think that the root of Harrod's instability problem lies in the
assumption of wage-price rigidity? Give arguments in favour of your answer,

‘T Wefe’ 0 27 R AR v F nom 2 wh deum AR A W wed 27

What is ‘immiserizing growth™ How can it be prevented through trade policy
interventions?

[ P.T.O.
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(d]

(e)

6. (a)

(b)

(c)

7. fa)

(b)

(c)

f\

T =R (3fEn) waiache gm w0 =3 § R e sema s 87

How does carbon trading help in reducing environmental degradation?

i g (weh) & Rt e @ qm ol of% 3@ ¥ yeE-wgen B R wER A e
w=a 87

How do depreciation and appreciation in the external value of a currency
impact a country’s balance of payments?

“ggtm ol wEgRE TeR B WHRA w-gR D e TE §, oy w-@ B 1w
£ wm wa ® we ffw

“Balanced and unbalanced growth strategics are not substitutes but
complementary to each other.” Explain this statement.

QA-20 Higw & v A, RN IR P N g Afg T wH G B e wE
ARG WA TA?

In the context of a two-country model, derive foreign trade multiplier and
explain its working. What will be its repercussion?

MiEs w9 I s wa A A AR 70 TR T § 3w M TR =R R Al
o SNR N Afge e e §7 9w I s wege Bl %
Distinguish between Monetary union and Economic union» Do :he pﬁ:\lafcratm

trading blocks adversely affect the free trade in the worla?‘ Gwe ;"eagons for

your answer. Q \

ﬁmmﬂahﬂ%%qﬁgﬂwﬁzﬂam rﬂa@nwﬂ*wmﬁ-qu?

What are the advamages ‘and @advantagcs of capital mobility for developing
countncs9 \.

\ \Q\ Q\
mm%ﬁ\mmmﬁ%mmﬁmmﬁa% T T E6-3
(gmhﬁ%ﬁa}nmﬁmtl"mwmmmwﬂm Hifarg
long as the substitution possibilitics between foreign and domestic

resources are limited, the dual-gap analysis is relevant.” Critically examine this
statement.

@ U onfsren #, Rl @ &, 3w, TG-IRA 83 T FFEUA A BEm (3me @ Ao)
& §, mw&ﬁﬂﬂﬁm%&mﬁﬁq% (i T ImE I A E AR
Fem s ¥ R (i) s =fe s B AR B af-w A Tz o N

In an economy having two sectors, namely, goods-producing sector and
Research and Development (R & D) sector, prove with the help of new growth
theory that (i) both capital and aggregate output must grow at the same rate
and (i} per capita output must grow at the rate of growth of technology.

mmm%?wmﬁﬁmmﬁmmﬂmmmmmm
Tl it B w §)

What is indicative planning? In this context, explain how State and markets
can play a synergetic role in economic development.
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8. (a) ‘wm el (MR TEEN) @ oM i €7 = fiRn s w8 smunen B wil am

g | e wam wafye fen o wwa R

What do you mean by ‘green accounting’? Discuss how this concept can be

incorporated in national income accounting. 10
(b) va = fade w0 R Pu F@ [ wWiRvE ureirm FA e § e (fgeie) s

a4 ift o=t ARl

Discuss the rolc of renewable energy resources in order to maintain

environmental sustainability with special reference to India. 20

[ "4 -ty Brm @ veh % Y o e % de A R Wl T vl A AR
m-gfe T w0 F foy feg o @ srmign war @ wlam Fifdw)
“Global warming will certainly increase the cry of the earth and the cry

of the poor.” In this context, examine the international efforts to reduce
global warming. 20

* ok k L] “
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